N & o & AF &2 H Ml A
20098 = =0l A L BES|H|
SN F=RIAEAD
HE: Lol o AW 25
et TOME QI EOHE TRl (ol a e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= AHIA D 68,852,296 59, 186,642 9,665,654
= 42,759,977
AlHI 23,255,525
T4l 2,836,794
Lo Y HAE BS 27,744,626 23,804,407 3,940,219
= 18,638,797
AlHI 7,805,977
T Hl 1,299,852
MOt ol gortd X & 23,895,096 17,224,515 6,670,581
= 17,407,858
AlHI 5,473,293
Tl 1,013,945
=g 3d Na 23,047,101 15,193,684 7,853,417
= 17,133,559
AlHI 4,899,597
-4l 1,013,945
301 Lptsazg 23,047,101 15,193,684 7,853,417
= 17,133,559
AlHI 4,899,597
-4l 1,013,945
01 A2 A =53 23,047,101 15,193,684 7,853,417
OJdIzg89=s XNa 23,047,101,000& 23,047,101
2 17,133,559
Alt] 4,899,597
-l 1,013,945
F2AY REg4 113,000 107,000 6,000
AlHI 113,000
307 QIZt0IA 113,000 107,000 6,000
AlHI 113,000
02 2B X 113,000 107,000 6,000
OdzAg R2a4 113,000, 000& 113,000
AlBI 113,000
MAS MOt QIAAHHE 152,400 152,400 0
AlHI 152,400
307 QI2toI A 152,400 152,400 0




S FEOIAEIADL
o Lol W HAW 25
Sl WO MEONY XIR (5l &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 gggi; bRz
307 21201 H Al 152,400
REIEIETRI=E S 152,400 152,400 0
OMAS THIHz QIAIA S 152,400,0002! 152,400
ALt 152,400
NI QBT 25 12,240 9,600 2,640
Al 12,240
01 YuBAZ 12,240 9,600 2,640
Al 12,240
01 MEEZEL62 12,240 9,600 2,640
OYH XN Q8X 25 12,240, 00024 12,240
ALt 12,240
S0l L OIKITHXI 2 178,500 73,100 5,400
Al 178,500
01 LY 178,500 173,100 5,400
Al 178,500
JIEEEEEYE 178,500 173,100 5,400
OSole oAU 178,500, 000! 178,500
ALt 178,500
CoEE NUIA 391,855 0 391,855
2 274,299
AlHI 117,556
307 212401 391,855 0 391,855
2 274,299
Al 117,556
EIETETRNI=E S 391,855 0 391,855
OLolSE AHIA 391,855,000 391,855
2 274,299
AlHI 117,556
Ol 0JtES ¥ D8IIS KB 1,645,385 1,204,749 440,636
2 497,550
Al 893,930
2l 253,905
CoDA YK 21,600 24,000 A2,400
Al 21,600




AN F=RIAMHAD
HE: Lol o HAW 25
£Hol: Lol OIJIEE 2 DE8IIS MB (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told 21,600 24,000 22,400
AlHI 21,600
02 BlZtFAE=X 21,600 24,000 22,400
OLQlwal(9ia) 88 XA 21,600,000& 21,600
AlHI 21,600
Colgditel A 995,100 783,550 211,550
= 497,550
AlHI 497,550
301 Lptsaazg 153,000 0 153,000
= 76,500
AlHI 76,500
01 A2 H =0z 153,000 0 153,000
O LolgdXiel At 153,000,000& 153,000
= 76,500
AlHI 76,500
307 glz2told 842,100 783,550 58,550
= 421,050
AlHI 421,050
02 gltFaEx 842,100 783,550 58,550
O LolgXiel AL XA 842,100,000 842,100
= 421,050
AlHI 421,050
AMUNZEE 29 179,435 0 179,435
AlHI 163,600
-4l 25,835
307 QI2t0IA 179,435 0 179,435
AlHI 153,600
-4l 25,835
02 SltFAE=X 179,435 0 179,435
OAlLIGIZEY 29 179,435,000 179,435
AlHI 153,600
-l 25,835
22Y 29 335,900 265,400 70,500
AlHI 209,360
-4l 126,540




AN F=RIAMHAD
HE: Lol o HAW 25
£Hol: Lol OIJIEE 2 DE8IIS MB (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told 335,900 265,400 70,500
AlHI 209,360
Tl 126,540
02 glztFaEx 335,900 265,400 70,500
oZdzg 23 X& 335,900,000 335,900
AlHI 209, 360
el 126,540
FH&AE 22 AR 5,640 2,860 2,780
AlHI 2,820
-4l 2,820
307 glz2told 5,640 2,860 2,780
AlHI 2,820
-4l 2,820
02 glztHaEx 5,640 2,860 2,780
O=4&E 3A=Y A= 5,640,000& 5,640
AlHI 2,820
el 2,820
Y& ZZ2 08 22X XA 18,000 18,000 0
AlHI 9,000
-4l 9,000
307 QI2told 18,000 18,000 0
AlHI 9,000
-4l 9,000
02 BltHAExX 18,000 18,000 0
OZ2Y &3 T2 0 22| X BIEXIALS
18,000,000& 18,000
AlHI 9,000
-l 9,000
LosX & 53,806 47,0095 6,711
201 LEH23H] 2,745 0 2,745
01 AtR2teld 2,745 0 2,745
OJI=8dz MEAMA HMA
3,050 *900A 2,745
203 YRFLAH| 3,800 2,000 1,800
03 AIMFAAR =LY 3,800 2,000 1,800




SA: ZBIAHIAD
o Lol Y Had 25
ol Ol OIS 2 DEIIE M (EHo &8
_ _ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
OL-QIBHEY AED 800, 0008 800
OAMBH-S0HY BAS2Y AIMEX
800,000& 800
OMBISXAIE 22K 21E3) 800, 0008 800
OMBISXIAIE YA 2E3 400,0008 400
OSXAHIA ABER 1,000,0008! 1,000
301 YprEa3 19,757 19,064 693
01 ABIEEESGS 12,000 9,696 2,304
ONAS oM ABEEE
1,000, 0008 * 128 12,000
09 BoUIRERNE 7,757 9,368 A1,611
O-oge #HFEX 229 7,757
- 23 83,0002 x22 « 12 2,112
- A 5,0002! «3% 222 * 12 3,960
nEH 2,600%! x2% 222 * 12 1,373
1= 156, 0008 2% 312
307 QI2t0lA 27,504 26,031 1,473
02 PIHAMEX 27,504 26,031 1,473
Ozol=xs2ey X 27,504
o121 1,863,0008! * 1% » 128 22,35
SNEEEIE 150, 0008 * 128 1,800
- b 300,0002! *3% 900
4B EE 104,0008 * 128 1,248
®IIB 10,0008 * 128 1,200
2y 22 35,904 25,844 10,060
201 Lpre | 1,554 1,554 0
02 SISl 1,554 1,554 0
OZ2Y P NHRES 150,0008! 523 300
OYZG AT A 33,0002 <3804 4 1,254
301 YstEAZ 4,350 4,290 60
IIEEREETE 4,350 4,290 60
OdY F2Y 22 30,0002 * 14574 2 4,350
401 A&HIZ=CHYI 30,000 20,000 10,000
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HE: Lol o HAW 25
©?: Lo otes ¥ 1EJ|18 HMS (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 Al&HbI 30,000 20,000 10,000
O&dz2Y FAEx 30,000,000& 30,000
LOIEAId 2 1,564,093 5,167,623 A 3,603,530
= 421,439
AlH] 1,142,654
LOIQAUALE 24 341,280 4,167,184 A 3,825,904
Al ] 341,280
307 ©QIZ2to| A 341,280 4,167,184 A\ 3,825,904
AlHI 341,280
02 QI2HEAMNEX 341,280 4,167,184 A3,825,904
OLQAE SAX 22X 341,280, 000& 341,280
AlH] 341,280
COIAAEMAZH XA 468,266 366,768 101,498
= 421,439
AlH] 46,827
301 dE8AZ 468, 266 366,768 101,498
= 421,439
AlHI 46,827
01 A EEE56= 468,266 366,768 101,498
OLQAE AKX MAZO 468,266,000 468,266
= 421,439
Al 46,827
UL ISXAE HA=K=S = 32,400 32,400 0
AlHI 32,400
307 QI2t0IA 32,400 32,400 0
AlH] 32,400
02 0I2tFAE X 32,400 32,400 0
OMIMEoIsXAIE MNASK=E X
32,400,000& 32,400
AlHl 32,400
LOIQAUAAE S2IF XI& 470,000 0 470,000
Al ] 470,000
301 dE8EAZ 470,000 0 470,000
Al H] 470,000
01 AIZE&EE5= 470,000 0 470,000
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chel:

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OLFIRRABE SSAN BES
470,000,000& 470,000
AlHI 470,000
MOt ISXAIE 23 K= 251,002 490,200 A239,198
AlHI 251,002
307 QIt0IA 251,002 490,200 N239,198
AlHI 251,002
02 SltFAEx 251,002 490,200 A~ 239,198
OMIt=QI=XAIE (60HA) 28 X2
251,002,000& 251,002
AlHI 251,002
U-Health MHIA RXIE=+ 1,145 0 1,145
AlHI 1,145
307 glz2told 1,145 0 1,145
AlHI 1,145
02 2HAEX 1,145 0 1,145
OU-Health MHIA SXE= 1,145,000& 1,145
AlHI 1,145
Lo8X elZet &3 532,500 100,000 432,500
= 266,250
AlHI 266,250
Mot =X M AS(LATIE XHH) 532,500 0 532,500
= 266,250
AlHI 266,250
402 QI2EXE01M 532,500 0 532,500
= 266,250
AlHI 266,250
01 2UAR=2EX 532,500 0 532,500
OTHIFCQI=RIME (FZTHOH XIRME) &l
= 532,500,000 532,500
=2 266,250
AlHI 266,250
Fad X358 107,552 107,520 32
= 45,700
AlHI 29,850
T4l 32,002




0 H™ A

01 A bl A3
ol U HAH BB
A8 =XEZ

L RE-E

- SHRI(EIAH) - NI AL

22
J2

AR BArHESHE ¢ S0r2l 2 63,400
= 31,700

AlHI 15,850

| 15,850

201 ere | 2,000
= 1,000

AlHI 500

2| 500

01 ARzt 2,000
OFAH 231E 29 2,000
=2 1,000

AlHI 500

2| 500

307 QI2t0lA 61,400
=2 30,700

AlHI 15,350

| 15,350

02 QIANAMEZE 61,400
OFAH 23E 29 X8 36,400,000 36,400
=2 18,200

AlHI 9,100

| 9,100

OyAE=sot2l X8 25,000,0002 25,000
=2 12,500

AlHI 6,250

| 6,250

HaE ZRY 2o 28,000
=2 14,000

AlHI 14,000

307 212+0| 28,000
2 14,000

AlHI 14,000

02 QIANAMEZE 28,000
OFAY BRY2Y N 28,000,0002 28,000
=2 14,000

B
2

=2
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AN FEAHI AL

BB FHoNE X

chel: Zojol=x =7 LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

301 dE8AZ = 2,242,884
AlH] 961,236

01 MIBEHHHZ2 3,204,120 4,098,000 893,880
O&M=E 3,204, 120,000 3,204,120
= 2,242,884
AlBl 961,236

oo e X2 432,360 496,800 N64,440
Al ] 432,360

301 e AS 432,360 496,800 A64,440
AlHI 432,360

01 AIIEEE 0= 432,360 496,800 AN64,440
OO e+ 432,360,000 432,360
AlH] 432,360

Zots=E K= 210,000 198,000 12,000
= 147,000
Al ] 63,000

301 e A2 210,000 198,000 12,000
= 147,000
Al ] 63,000

01 A E&EE56= 210,000 198,000 12,000
OZ& Ols=¢ 210,000,000 210,000
= 147,000
AlHl 63,000

2ol el=H| K& 237,740 105,000 132,740
= 190, 192
Al ] 47,548

301 LE8BAZ 237,740 105,000 132,740
= 190, 192
AlH] 47,548

01 A E&EE56= 237,740 105,000 132,740
OX el o2 H| K& 197,387,000 197,387
= 157,910
AlHl 39,477
O&ofel 8&7 e I 40,353,000& 40,353
= 32,282




AN FEAHI AL

BB FHoNE X

chel: mOjOI=N =A (sl a e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

AlHI 8,071

oS XA W=sHl X3 23,000 14,500 8,500
= 18,400
AlHI 4,600

301 LerEa= 23,000 14,500 8,500
= 18,400
AlHI 4,600

01 A2 =0z 23,000 14,500 8,500
OZOHel XtH n=H| 23,000, 000& 23,000
= 18,400
AlHI 4,600

ZoHel SEXHH XA 1,505 1,640 A 135
= 752
AlHI 753

301 Lptsazg 1,505 1,640 2135
= 752
AlHI 753

01 A2 H =0z 1,505 1,640 2135
OFMe SZECH| 1,505,0002 1,505
= 752
AlHI 753

HOHel EX0|7 w: 8,134 11,750 A 3,616
= 6,507
-4l 1,627

301 YBtEa= 8,134 11,750 23,616
= 6,507
el 1,627

01 A2 H =03 8,134 11,750 A 3,616
OO WELZEIT X 8,134,002 8,134
= 6,507
-l 1,627

ZOH SR Ttel At 15,140 15,350 A210
= 7,570
AlHI 7,570

301 YBtEa= 15,140 15,350 A210




¢ FOAHI AL
DHESAHS N
s 58

SN I SRI(S) - NRAY - B sk Soe B RS2
301 YBtEa= = 7,570
AlHI 7,570
01 AI2EHA=53 15,140 15,350 A210
OHOMe SXLXel At 15,140,000& 15,140
= 7,570
AlBI 7,570
Z0el S ™ =X ALY 1,536,211 792,957 743,254
= 1,075,348
AlHI 460,863
307 QIt0IA 1,536,211 792,957 743,254
= 1,075,348
AlHI 460,863
05 GIZtREZ ,536,211 792,957 743,254
OFOel Atalgs XA (He 858X
Bt ) 1,536,211,000& ,536,211
= ,075,348
AlHI 460,863
O FCIXXEHER01 At 77,805 71,820 5,985
= 38,902
AlHI 38,903
301 ptEas 77,805 71,820 5,985
= 38,902
AlHI 38,903
01 A2 E =03 77,805 71,820 5,985
OFOHel F2IX X HIE E 20| 77,805,0002 77,805
= 38,902
AlHI 38,903
HAAHE B 12,555 3,000 9,555
201 ZEH2IH] 2,135 1,680 455
01 Atf2teld 2,135 1,680 455
OROjol HAAD OHHHMT} H&
15,0003 255 375
OO XsXEX M 800& »11E2000H 1,760
203 YRF&d| 920 1,320 A400
03 AIM=AHI2 =Y 920 1,320 A400




AN FEAHI AL

BB FHoNE X

Sl FOHOIZX S (St5: &8 2)
_ _ MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OZOOICH L AIAZ A 24l
80,0002 800
ORZol of - SANAIRE 23]
20,0002 120
01 YerEaz 1,000 0 1,000
12 JIEr2A3 1,000 0 1,000
OFAZOHY £35S 100,0008%2A] 253 1,000
405 XH&HE S| 8,500 0 8,500
01 KMUSEHSH] 8,500 0 8,500
O2EI 2 350,000 %20CH 7,000
O 2Y 75,0002 +20CH 1,500
ZOHQl =R AL (AlE]) 97,500 0 97,500
AlHI 97,500
307 BI2tOIH 97,500 0 97,500
Al 97,500
05 BIRSIES 97,500 0 97,500
OSZZY 2SEX X2 97,500,0002! 97,500
Al 97,500
ROHQI=RIAL X 988, 181 853,312 134,869
ALt 988, 181
ZOjI=X 2 2K 689,221 634,492 54,729
Al 689,221
307 eI2t0lH 689,221 634,492 54,729
Al 689,221
EIEIEPI=ES 689,221 634,492 54,729
OZjUSXZ 2YX & 689,221,0002 689,221
Al 689,221
HOjIFE BEALSYN R 56,840 56, 120 720
Al 56,840
307 BI2tOIH 56,840 56, 120 720
Al 56,840
2 SIABNBE 56,840 56, 120 720
OFojol ZARBAL 2% X
56,840, 000! 56,840
Al 56,840




S A
X XH .
(=

chel:

=2 MEIAD
Hors N
20401 =X Al XIS

A BB SA(E) - NS - BES e HI D2
Jolssdetd 22 133,120 162,700 229,580
AlHI 133, 120
307 elztold 133,120 162,700 A29,580
Al 133,120
02 2I2tda=Ex 133,120 162,700 229,580
OZMe 35 d&Hd 28N
133,120,000 133,120
AlH] 133,120
Atot=t HofjeI=X2 == 23 20,000 0 20,000
Al 20,000
307 elztold 20,000 0 20,000
AlBI 20,000
02 UAHAHEX 20,000 0 20,000
OAlot FoHI=X2 S22 29
20,000,000 20,000
AlHl 20,000
FoperExa F23ls HAAY 4,000 0 4,000
AlBI 4,000
307 elztold 4,000 0 4,000
AlHI 4,000
02 UAHAHEx 4,000 0 4,000
OFM=X2 235 HLAE
4,000,000 4,000
AlH] 4,000
o HESIF sl N2HEH 24 85,000 0 85,000
AlHI 85,000
307 212told 85,000 0 85,000
AlH] 85,000
02 UANHHEX 85,000 0 85,000
OZML MesIi+ sl 2
85,000,000 85,000
Al 85,000
gol 25 ¢ X& 804,792 647,704 157,088
= 511,391
AlBI 293,401
SYAIE 2 (=Hl) 534,910 401,885 133,025
= 374,437




2N
_77_<_

M FHAAHS XNA
el 2etol ¥5 % 9 (el ®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

SOIAE 2H(=2H]) AlH] 160,473

307 QI2tolA 534,910 401,885 133,025
= 374,437
Al H] 160,473

02 QI2HEAAMNEX 534,910 401,885 133,025
OB80AE 29 (=2H]) 534,910, 000& 534,910
= 374,437
AlH] 160,473

S20IAIE 2H(AlH]) 106,600 113,029 NB6,429
AlHI 106,600

307 QIZt0lA 106,600 113,029 6,429
AlH] 106,600

02 oIt AE X 106,600 113,029 ANB,429
OBHQIAIE 2H(AlHl) 106,600,000& 106,600
Aldl 106,600

SEOIAIE MHZN 138,282 116,710 21,572
2 124,454
Al H] 13,828

301 et AS 138,282 116,710 21,572
= 124,454
Al ] 13,828

01 MIBEHH=HI3 138,282 116,710 21,572
OFHOAE MAZSAH 138,282,000& 138,282
o 124,454
AlHl 13,828

SEOIANE)s 2& 25,000 14,400 10,600
= 12,500
AlHI 12,500

402 QIZ2EX 20| 25,000 14,400 10,600
= 12,500
Al H] 12,500

01 QI2tX=2EX 25,000 14,400 10,600
OFRAE JIsEH 25,000,000& 25,000
= 12,500
AlBl 12,500




AN FEAHI AL
M FHYAS N2

CHol: LX) B3 (cre) m el
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

=k B 56,911 57,030 A119
AlHI 56,911

L=0ElH B3 55,401 55,290 111
AlHI 55,401

307 QI2t0IA 55,401 55,290 111
AlHI 55,401

02 fltFaEx 55,401 55,290 111
Ok=X&H B3 55,401,000& 55,401
AlHI 55,401

=X SAdXA 1,510 1,740 A 230
AlHI 1,510

307 glz2told 1,510 1,740 A 230
AlHI 1,510

02 QltF&E=X 1,510 1,740 A 230
Ok=Xt S4H X 1,510,000& 1,510
AlHI 1,510

ts:2s 3,323,089 3,210,240 112,849
= 950,911
AlHI 2,170,278
-4l 201,900

OtsSAlE 24 793,852 1,041,359 N247,507
AlHI 793,852

307 QI2t0IA 793,852 1,041,359 N247,507
AlHI 793,852

02 glztFaEx 793,852 1,041,359 N247,507
O0tsAle 29 793,852,000& 793,852
AlHI 793,852

OlsAlE MAHZ0 160,998 213,868 A52,870
= 144,898
AlHI 16,100

307 QI2t0IA 160,998 213,868 A52,870
= 144,898
AlHI 16,100

02 A2 X 160,998 213,868 A52,870




SN EOMIAD
HE: FHOHE X
o9 OIEES Rk
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 giﬁgfg B2
OOLSAE ME0tS HHSO
160,998, 0002 160,998
2 144,898
ALt 16, 100
OIEAIE RS20 34,259 36,467 A2,208
2 30,833
Al 3,426
307 21201 H 34,259 36,467 A2,208
2 30,833
Al 3,426
2 INTHBE 34,250 36,467 ~2,208
OOtSAE ME0IS DSI0 34,259,008 34,259
2 30,833
ALt 3,426
AEOLS 3HH42tb| 1,880 3,000 A1,120
Al 1,880
307 212t0IH 1,880 3,000 A1,120
Al 1,880
EIEIETINEE S 1,880 3,000 AT,120
ON&OLE BHH22ill X2 1,880,0002 1,880
Al 1,880
OLE =X MAHAEI R Y XI2IXI2) 123,600 108,000 15,600
2 86,520
Al 37,080
307 I2tolH 123,600 108,000 15,600
2 86,520
Al 37,080
VREEIEPES 23,600 108,000 15,600
OOIE= X MAF 21241 X & 123,600,0002! 123,600
= 86,520
ALt 37,080
AISOHS 481018 H| X 2,130 3,000 AB70
Al 2,130
307 212401 2,130 3,000 ABT0
Al 2,130




S A
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chel:

SH-EFHHA(FA) - NIRAE - BES O AFH glgafg Hws2
02 QIZAMEX 2,130 3,000 A870
OAl&0tS 2801yl X 2,130,0002! 2,130
Al 2,130
ElA0IE MEEES 14,000 14,000 0
Al 14,000
307 QI20|H 14,000 14,000 0
Al 14,000
REFIEPS=ES 14,000 14,000 0
OAl& E40tS REFEZ XL
14,000,000 14,000
Al 14,000
AE - AUEIJME JIESISOIS REXY 12,000 31,500 ~19,500
Al 12,000
301 YAz 12,000 31,500 19,500
Al 12,000
01 ASIEEXAG2 12,000 31,500 19,500
OAME - AHJIE JIEQISOIE KB
12,000,000 12,000
Al 12,000
ANEOIE DEYIXH(EDN) 9,360 9,000 360
Al 9,360
307 QI20IH 9,360 9,000 360
Al 9,360
02 QIZHAMEEX 9,360 9,000 360
OA&OIE EDM DEH K& 9,360,0002! 9,360
Al 9,360
NEOIS 8=X2 21,780 32,000 210,220
Al 21,780
307 ©I20IN 21,780 32,000 ~10,220
Al 21,780
02 DIZAASE 21,780 32,000 ~10,220
ON&OlS E=X¥ 21,780,000 21,780
Al 21,780
INEE AHAH ANLOE HSHEZ2 N 24,570 24,550 20
AlHI 24,570




2 = AHIAD
B FHoS Ke
ool OS2 S (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
301 getEazg 24,570 24,550 20
AlH] 24,570
01 AM3B2EH=EZ3 24,570 24,550 20
OIERE, AE8AH, AE0ts HESE
=2 A& 24,570,000 24,570
AlHl 24,570
A2EAH & JHER/AE Ot &5 K& 151,400 155,520 A4,120
AlHl 151,400
301 utEa=z 151,400 155,520 A4,120
AlHI 151,400
01 AM3BEH=EZ3 151,400 155,520 24,120
OAEAEIE L IIHIALOIE 25 X
151,400, 000& 151,400
AlHI 151,400
Ots2e XI2HZ X3 64,800 64,800 0
= 45,360
Al 19,440
301 YotEaz 64,800 64,800 0
= 45,360
AlH] 19,440
01 AM3BEHE=EZ3 64,800 64,800 0
Ootsgg XN3AHZE X 64,800,000& 64,800
= 45,360
AlHI 19,440
YAots 2= A 20,400 22,800 A2,400
= 14,280
AlHI 6,120
301 YotEa= 20,400 22,800 A2,400
= 14,280
AlHI 6,120
01 AMIIEBHEHESGZ3 20,400 22,800 A2,400
Oogdots s+ XN 20,400,000& 20,400
= 14,280
AlHI 6,120
NE0otsdEe 2 X& 296,640 132,000 164,640
= 148,320




2 = AHIAD
B FHoS Ke
ool OS2 S (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
XNE0otsdEe 2EX& AlHl 148,320
307 gQiz2tol™ 296,640 132,000 164,640
= 148,320
AlHI 148,320
02 BIZHEANEZX 296,640 132,000 164,640
OXgotsdH 28 K& 296,640,000& 296,640
= 148,320
AlHI 148,320
HA0ts sS4 K& 532,000 399,411 132,589
AlHl 399,000
-l 133,000
301 getEazg 532,000 399,411 132,589
AlH] 399,000
2| 133,000
01 A3IEEE=0H3 532,000 399,411 132,589
oZY Ots=4 XN& 532,000,000& 532,000
AlHI 399,000
-l 133,000
gerE Otsga K& 240,800 140,010 100,790
AlHl 180,600
-l 60,200
301 getEazg 240,800 140,010 100,790
AlHI 180,600
-l 60,200
01 ASIEEE=H3 240,800 140,010 100,790
Ogst=s Ots=aldl K& 240,800,000& 240,800
AlHl 180,600
-l 60,200
E-35Y Ots24X& 108,920 55,820 53,100
AlHI 108,920
301 Lptsaazg 108,920 55,820 53,100
AlHI 108,920
01 A2 E=063 108,920 55,820 53,100
O - 38Y Ot=24 A& 108,920, 000& 108,920
AlHI 108,920




M =M AL
I Hos X
&2 OlsES (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
KIS ALS MHI A SAAIY (XIS HERS ALR) 401,000 568,015 A 167,015
= 280,700
AlHI 120,300
307 gI2t0lA 401,000 568,015 A 167,015
= 280,700
AlHI 120,300
05 QItQIEZ 401,000 568,015 A 167,015
OX AR MBI A SHAAMS(XNSHEH)
401,000,000 401,000
= 280,700
AlH] 120,300
O2l0l=0lH 22 4,500 3,000 1,500
201 LEr2HH| 1,500 0 1,500
01 AtR22IH] 1,000 0 1,000
O0RI0IS0IH S0lAIE &X ZA
500, 00024 %204 A 1,000
02 2229 500 0 500
OO0 20l =0lAl& &ofithaes It
250,000 204 A 500
401 Al&HIL=20HY] 3,000 3,000 0
01 Al&H] 3,000 3,000 0
O02I0I=0IE Ald2 E4=(2HA)
3,000,000 3,000
OlSEXAIY 29 4,200 7,420 A3,220
201 LEr2HH| 1,800 5,020 A3,220
01 AtR22IH] 1,800 5,020 A3,220
OgI=s olssa A M 200,0002 200
Ogst=s ols=2a4A M 500,0002 *23| 1,000
Ooglolg JIHaiAl E82 M 600,000 600
203 YR =ZFH| 2,400 2,400 0
03 AIM=XAD=ZY| 2,400 2,400 0
ONEolY JIEeAL =& 2,400,000 2,400
C2AEIENEH 29Y 300,000 0 300,000
= 200,000
AlHI 100,000
101 Q1244 86,400 0 86,400




SN EOMIAD
o HoH S X
o9 OIEES Rk
SH-EH . C(BH) - NRAY - BES Ofl AF o4 ggi bRz
101 oIty 2 57,629
AlHI 28,771
10 JAR2EZNSES 86,400 0 86,400
OSYAEIEHE 2% JIAR2 2R
86,400, 0002 86,400
2 57,629
ALt 28,771
201 Ysregyl 126,810 0 126,810
2 84,542
Al 42,268
01 AR el 126,810 0 126,810
OCRAEE Z20z U HEHSY
126,810,0002! 126,810
2 84,542
ALt 42,268
202 o1t 7,640 0 7,640
2 5,085
Al 2,555
01 =Uolbl 4,640 0 4,640
OCRAEIEHE Na SXOIY)
4,640,0002 4,640
2 3,085
ALt 1,555
04 =Ristoi] 3,000 0 3,000
OSYAEE 2% XX A8 3,000,002 3,000
2 2,000
ALt 1,000
01 YL 1,750 0 1,750
2 1,167
ALt 583
12 JIERN3 1,750 0 1,750
OUZTEZA SEIT 24 1,750,002 1,750
2 1,167
ALt 583
307 2120l 75,000 0 75,000
2 49,980
Al 25,020




S A
X XH .
(=

chel:

SNBSS - MBAY - BES 0 & 24 e {imE=Eh
02 QlztAAMEX 75,000 0 75,000
Oxddla Z2)H2H XA 75,000,000& 75,000
2 49,980
AlHI 25,020
405 XtobE SHI 2,400 0 2,400
= 1,597
AlHI 803
01 NAXESEH=HI 2,400 0 2,400
OEEARENYH 23425 #¢
2,400,000& 2,400
=2 1,597
AlHI 803
g5 2 JIEXA 25,239,085 20,042,203 5,196,882
= 15,394,701
AlHI 8,895,337
-4l 949,047
od=X 906, 568 940,550 A 33,982
= 458,498
AlHI 396,995
-4l 51,075
AZE N EAH 22 276,500 276,000 500
= 138,250
AlHI 97,125
T4l 41,125
307 gIz2tol & 276,500 276,000 500
= 138,250
AlHI 97,125
Tl 41,125
02 2I2tda=2x 276,500 276,000 500
OALNFNAME 2 12
276,500,000 276,500
= 138,250
AlHI 97,125
-l 41,125
otol==20l1 X&E 104,000 138,000 A 34,000
= 72,800




2 = AHIAD
25 2 OtEXE
S92 0= (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Ootol=&0l XI& AlHI 31,200
307 gQiz2tol™ 104,000 138,000 234,000
= 72,800
AlHI 31,200
02 BIZHEANEZX 104,000 138,000 A 34,000
Ootol=&20l XI& 104,000,000& 104,000
= 72,800
AlHI 31,200
OEstE IHEsXNdEH 24 70,000 50,000 20,000
= 49,000
AlHI 21,000
101 @IH| 25,000 0 25,000
= 17,500
AlHI 7,500
10 JIZtNZ22NSE+ 25,000 0 25,000
OU=2IIEXNHEH J2H2I 21
25,000, 000& 25,000
= 17,500
AlHI 7,500
201 Lt 38,000 50,000 A 12,000
= 26,600
AlHI 11,400
01 AtS2eld] 38,000 50,000 A 12,000
OU=2IIEXNJEH 2208 2 dH2
=l 38,000, 000& 38,000
= 26,600
AlHI 11,400
202 O4Hl 1,000 0 1,000
= 700
AlHI 300
01 AL 1,000 0 1,000
OUZSIIEXNJAME SAR SEOHYI
1,000, 000& 1,000
= 700
AlHI 300
405 XH&HFESHI 6,000 0 6,000




2 = AHIAD
25 2 OtEXE
S92 0= (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
405 KHaHE S| = 4,200
AlHI 1,800
01 XA EEHSHI 6,000 0 6,000
OU2IIEXNEEH 2= 7Y
6,000,0002 6,000
o 4,200
AlHI 1,800
UEZUFAY 241,200 301,660 260,460
= 168,840
AlHI 72,360
101 ol | 192,960 0 192,960
= 135,072
AlH] 57,888
10 JIZtH22ASES 192,960 0 192,960
OYZusZel X T A JI2tHIZ2 2 A
192,960, 000& 192,960
= 135,072
AlHI 57,888
201 ZEH2EH] 47,240 0 47,240
= 33,068
AlHI 14,172
01 AtR2teltl 47,240 0 47,240
OYSNILI2IY 29 47,240,0002 47,240
= 33,068
AlHI 14,172
202 O4Hl 1,000 0 1,000
= 700
AlHI 300
01 SLHAHbI 1,000 0 1,000
OgRuWs 22X AH EH0HI
1,000, 000& 1,000
= 700
AlHI 300
IHEES - A=A & HIoHA K& 59,216 57,870 1,346
= 29,608
AlHI 29,608
307 2IZ2t0lA 59,216 57,870 1,346




S A
X XH .
(=

chel:

ol Bl A D
= 2 JEXA
g=X

_ _ _ Muo
M- F= - S2(3H) - MRAY - BES Abod e HlnE2
307 ©I2H0|H = 29,608
AlHI 29,608
REEIEEES 59,216 57,870 1,346
OABIHEZi ML 29 X8
59,216,000 59,216
= 29,608
AlHI 29,608
APBE IR EAEA BAK 2RSS (AlH]) 1,800 0 1,800
AlHI 1,800
307 21201 H 1,800 0 1,800
AlHI 1,800
02 QIZHALE 1,800 0 1,800
) \3- BPIE-F=1-PNI=PN 1,800,000} 1,800
AlBI 1,800
S EE 143,902 108,500 35,402
AlHI 143,902
301 YPEAZ 143,902 108,500 35,402
AlBI 143,902
TEEEEESE 143,902 108,500 35,402
SET 143,902, 0002} 143,902
AlHI 143,902
g2x = 9,950 8,520 1,430
201 gty 1,590 160 1,430
01 AFe el 1,210 160 1,050
ONSEZ2N B 1,210
222 M= 500, 00021 x23] 1,000
B0t WA 70,0002 *374 210
03 A2 380 0 380
ONMEHH #A2H 380
B0 HIE 70,0002 *47} 280
SI=F M 10,0002 *107H 100
203 ALEAY| 1,680 1,680 0
FINEEEEESS 1,680 1,680 0




S A
X XH .
(=

chel:

=OIMHI AT
25 & JEXR
4=

SN C(BH) - NRAY - HES Aro e 2
OXEIAIS MRS 2 A HEF=X

400,000& 400
OA H2 AIHFZX 1,280,000& 1,280

301 getEazg 6,680 6,680 0

10 SAIABIEAS 6,680 6,680 0
OW4Z2&X MA=E 100, 000& x2H 200
Od=dusaA 120,000 23X *33| 720
ozolgadt 249 5,760
N2X 24 70,0003 42|« 12& 3,360
Br=Xt 24 50,0003 *43|x12& 2,400

SRR It 2X sd 2,501,697 1,054,194 1,447,503
= 1,289,943
Altl 1,211,754

SRUA=RNAE 2 208,000 208,000 0
AlHI 208,000

307 glz2told 208,000 208,000 0
AlHI 208,000

02 QItFAaE X 208,000 208,000 0
ORX=XAE 28 K& 208,000,000& 208,000
AlHI 208,000

SN AIE HEd K& 1,000 1,000 0
AlHI 1,000

307 2IZ2t0lA 1,000 1,000 0
AlHI 1,000

02 QUAFAE X 1,000 1,000 0
OZXESAIE H2Hl XA 1,000,000& 1,000
AlHI 1,000

SRU=XRAE 0124 MHASH X3 110,418 94,495 15,923
= 99,376
AlHI 11,042

307 gQiz2tolA 110,418 94,495 15,923
= 99,376
AlHl 11,042

02 QItFAE X 110,418 94,495 15,923




A F=OAHIA D
Bu: 28 o N
CHel: BEE JIE =X =3 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OZXNESAE 02X MHASO
110,418,000& 110,418
= 99,376
AlH] 11,042
FAUASKAE 30 7,846 11,329 N 3,483
= 7,061
Al ] 785
307 QIZ2+tolA 7,846 11,329 N 3,483
= 7,061
AlHI 785
02 QI2HAEAAMNEX 7,846 11,329 N 3,483
OZXNEXAIE 130 7,846,000 7,846
= 7,061
Al 785
SUA=XNANE 258 d3H ¥ 24AH XA 600 930 A 330
AlHI 600
307 QI2t0lA 600 930 A 330
AlH] 600
02 0I2tFAE X 600 930 A 330
ORNESANE 258 Z&EH L 24|
A& 600,000& 600
AlH] 600
DAUSKAIE AR 2HAH K& 2,500 4,440 A 1,940
AlHI 2,500
307 QIZt0lA 2,500 4,440 A 1,940
AlH] 2,500
02 oIt AE X 2,500 4,440 A 1,940
ORXNESAlE AKX 2HAH XI&
2,500,000& 2,500
Al 2,500
SAUEXAE EAX NEEHEHZ XS 14,000 14,000 0
AlH] 14,000
307 QI2tolA 14,000 14,000 0
Al H] 14,000
02 0I2tZAE X 14,000 14,000 0
OPREXAIL EAT VREHD X
14,000, 000& 14,000




SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24
AlHI 14,000
SRUEXANESAN EX=E X 12,000 10,800 1,200
AlHI 12,000
307 QI2t0IA 12,000 10,800 1,200
AlHI 12,000
02 glZtFateEx 12,000 10,800 1,200
OBXNESAE SMIL 22X+ A&
12,000,000& 12,000
AlHI 12,000
SRAENAE JIsEF 1,346,000 0 1,346,000
= 673,000
AlHI 673,000
402 QIEXE01 M 1,346,000 0 1,346,000
= 673,000
AlHI 673,000
01 QtR=8=x 1,346,000 0 1,346,000
OZAUSXAIL(SHLUZ2XE) HE A
1,346,000,000& 1,346,000
= 673,000
AlHI 673,000
SHRERIEAE 2= - w=Edl XN 638, 133 535,000 103,133
= 510,506
AlHI 127,627
301 utEa=s 638, 133 535,000 103,133
= 510,506
AlHI 127,627
01 A2 H =03 638, 133 535,000 103,133
OB=2ItE i %S L DDA syl X
el 638, 133,000& 638, 133
= 510,506
AlBI 127,627
SHERItE =0 WEH A 130,000 143,000 A 13,000
AlHI 130,000
301 ptEas 130,000 143,000 A 13,000
AlHI 130,000
01 AE2EHE =63 130,000 143,000 A 13,000




2 = AHIAD
25 2 OtEXE
CHel: BEE JIE =X =3 (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OS2It 1M WEHl XA
130,000, 000& 130,000
AlHI 130,000
Has 22 U4 s&3dl N& 31,200 31,200 0
AlHI 31,200
301 otEa=z 31,200 31,200 0
AlHI 31,200
01 A2I2HEE=03 31,200 31,200 0
OMAS S22JIE T st2EH X
31,200,000 31,200
AlHI 31,200
ESA4 2i2Y 127,000 217,000 290,000
= 61,000
AlHI 30,500
-l 35,500
EFANE JIsE 122,000 32,000 90,000
= 61,000
AlHI 30,500
-l 30,500
402 BIZ2HX =0l 122,000 32,000 90,000
= 61,000
AlHI 30,500
-l 30,500
01 QUAR=2EX 122,000 32,000 90,000
OESAE &3 122,000, 000& 122,000
= 61,000
AlHI 30,500
-4l 30,500
FREXNIESANE B 5,000 5,000 0
402 QIZEXE01H 5,000 5,000 0
01 QIZEXI=22 X 5,000 5,000 0
OFSEXE BRAL B4 5,000,000} 5,000
g - |0 4|8t =4 21,703,820 17,830,459 3,873,361
= 13,585,260
AlHI 7,256,088
4l 862,472




AN F=RIAMHAD
g 25 ¢ JHEAE
ol o - R0 SHII8 E4 LR
S RE-E (B12) - HIFAY - B2 s e HRE
0l & o
E=ANE B 4,052,000 3,797,435 254,565
= 2,431,200
AlHI 1,134,560
-4l 486,240
307 812+0 4,052,000 3,797,435 254,565
= 2,431,200
AlHI 1,134,560
T4l 486,240
02 B2tz 4,052,000 3,797,435 254,565
2= FXF er24dl XI&
4,052,000,000! 4,052,000
= 2,431,200
AlHl 1,134,560
-l 486,240
w1+ 117,000 164,814 N47,814
= 70,200
AlHI 32,760
-4l 14,040
307 gI2tolA 117,000 164,814 A47,814
= 70,200
AlHI 32,760
2HI 14,040
02 PItAa=EX 117,000 164,814 N47,814
oelzt 117,000,000 117,000
= 70,200
AlHI 32,760
el 14,040
AE2E 2,400 3,600 A 1,200
= 1,440
AlHI 672
Tl 288
307 212t0 2,400 3,600 A 1,200
= 1,440
AlHI 672
-4l 288
02 2tFa=2x 2,400 3,600 A 1,200




A F=OAHIA D
M 28 g IENY
ol o - R0 SHII8 E4 (oA
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
BEAE IEF2FH A& 2,400,000& 2,400
- 1,440
AlHl 672
sl 288
NAsSSE AHsEsg K& 12,100,440 7,118,708 4,981,732
= 8,250,300
Al ] 3,850, 140
307 QIZ2+tol A 12,100,440 7,118,708 4,981,732
= 8,250,300
AlHI 3,850, 140
02 QI AE X 12,100,440 7,118,708 4,981,732
oxseEss X& 12,100,440,000& 12,100,440
= 8,250,300
AlHl 3,850, 140
OHSNIOIRAEERE 1,910,480 1,976,552 N66,072
= 1,302,600
AlH] 607,880
307 QIZtol A 1,910,480 1,976,552 N66,072
= 1,302,600
AlH] 607,880
02 oI2ztEAE X 1,910,480 1,976,552 66,072
OBI5HI0L RABS2 X 1,910,480, 000! 1,910,480
= 1,302,600
AlHl 607,880
OO RAaE=ES 609,700 449,479 160,221
= 365,820
AlH] 170,716
2l 73,164
307 QI2tolA 609,700 449,479 160, 221
= 365,820
Al H] 170,716
Tt 73,164
02 OI2ztFAE X 609,700 449,479 160,221
OBOIS RUESE N 609,700,0002 609,700
= 365,820




2 = AHIAD
Bu: 28 o }FX
ol o - R0 SHII8 E4 LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
AlHI 170,716
- dl 73,164
SH B2 1,433,500 624,403 809,097
= 860, 100
AlHI 401,380
-l 172,020
307 2IZ2t0lA 1,433,500 624,403 809,097
= 860, 100
AlHI 401,380
2| 172,020
02 BlZtF&E=X 1,433,500 624,403 809,097
OFXdola 252 K& 1,433,500,000& 1,433,500
= 860, 100
Al Bl 401,380
-4l 172,020
EMoI= ANEHE=SZ 240,000 197,400 42,600
AlHI 240,000
307 2IZ2t0lA 240,000 197,400 42,600
AlHI 240,000
02 QltF&E=X 240,000 197,400 42,600
o) ESGEE-I ! 240,000,000 240,000
AlHI 240,000
2FA4E 0I0I80ts XA 506,000 0 506,000
= 303,600
AlHI 141,680
-l 60,720
307 glz2told 506,000 0 506,000
= 303,600
AlHI 141,680
-4l 60,720
02 QtFAE X 506,000 0 506,000
SFA4 00/E0ts =X
506,000,000& 506,000
= 303,600
AlBI 141,680
-l 60,720




S A

= 0| A
T —
Bu: 28 o }FX
(]
[e=)

el - R0F SHIIB X4 LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
22X BEIAE SEstE L S A 22,200 21,850 350
Al H] 22,200
307 QIZtolA 22,200 21,850 350
AlHI 22,200
02 QI2HEAAMNEX 22,200 21,850 350
OFSNALSAE BHss L So8A
K& 22,200,000 22,200
AlHl 22,200
HEXNE BESAIE DHWFH 21,600 19,400 2,200
Al ] 21,600
307 QIZ2to| A 21,600 19,400 2,200
AlHI 21,600
02 QI2HEAMNEX 21,600 19,400 2,200
OFEXA SHAL DHDRH X
21,600,000 21,600
AlH] 21,600
HEXE ESAIE IHEHS2HH| 15,600 13,700 1,900
AlHI 15,600
307 QIZtOlA 15,600 13,700 1,900
AlHI 15,600
02 QI3 AE X 15,600 13,700 1,900
OFSNARSAL T2 e
15,600,000 15,600
Al 15,600
DIZIEFAIE SHES L 2SS ALY 34,000 35,000 A 1,000
AlHI 34,000
307 QI2tolA 34,000 35,000 1,000
AlH] 34,000
02 0I2tFAYE X 34,000 35,000 1,000
OASRAIL BESS U SFHBA N2
34,000,000& 34,000
AlHl 34,000
IHESAL HFSE L 25 AY| 14,400 10,575 3,825
AlH] 14,400
307 QIZ2+tol A 14,400 10,575 3,825

AlHI 14,400




S 0N AD
o 28 2 }FX
o9l ¥ R0 SHII8 X4 (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
02 LAANBE 14,400 10,575 3,825
ONBRSAM siFss U 28A X
14,400,000%! 14,400
Al 14,400
DIZH JIHAIE BAK 2X4Y 564,500 281,750 282,750
ALt 564,500
307 QI2t0IF 564,500 281,750 282,750
Al 564,500
02 QIABNEZE 564,500 281,750 282,750
OBI2H NHESAE SAK ZXLY X
564,500,00024 564,500
Al 564,500
Y0t 2] 20l 29 4,000 15,540 A11,540
Al 4,000
307 QI2H0IF 4,000 15,540 A11,540
Al 4,000
02 SINANEZE 4,000 15,540 A11,540
OYOIBSAIL 2RI 20/2% X2
4,000,0002 4,000
Al 4,000
ESAE X8 56,000 55,300 700
201 er2g| 1,000 1,100 A100
01 At 22l 1,000 1,100 A100
OE|AE AR DIELA =4
700,0008! %13 700
OEKAS DI A 300,0002*13] 300
203 Y=Y 800 800 0
03 NHEEIYL=| 800 800 0
O2SYD ABE 800,000 800
307 QI2t0IF 54,200 53,400 800
00 LABNBE 53,400 53,400 0
ORIZHB AL Lt X2 38,450
£ 1008 01 & 350, 0002 *5H A 1,750
. 50~99% 300, 0002 *230 4 6,900
. 21~49%4 25000024 *7274 4 18,000




AN FEAHI AL
33 25 & I3 AH
BHel E - |0 4018 M (298

SN (B) - MBEAY - B2 Aol Soe HRZ2
209 Olot 200,000& *59H A~ 11,800
OKX& Ltetd] X& 11,350
- 100 Ol &f 350,000& *25H A~ 8,750
- 50~99Y 300, 000& =7 2~ 2,100
- 499 0| ot 250, 000& *x2 04 A 500
OXots oelold &Jlg XA
100,000& x12& 1,200
OZgRI0IE &eldl X&
100,000 #201 A~ %12 2,400
04 OI2tSHAIE X 800 0 800
OBEAAE AES AMEUs 20103
800,000& 800
A5 Moty & 4,136,464 3,998,074 138,390
= 3,506,622
AlHI 441,107
2 H| 188,735
KHEAIYE =& 4,136,464 3,998,074 138,390
= 3,506,622
AlH] 441,107
2| 188,735
tez=z 2,787,308 2,649,295 138,013
= 2,508,577
AlH] 195,112
sl 83,619
301 e AS3 2,787,308 2,649,295 138,013
= 2,508,577
Al H] 195,112
2l 83,619
01 AIIEEE 0= 2,787,308 2,649,295 138,013
ORE2RA 2,787,308,0002 2,787,308
= 2,508,577
AlH] 195,112
sl 83,619
AEASEZA 291,111 264,091 27,020
= 262,000
AlH] 20,378




SN FAH
M YASS
CHol: XHE AL bk
SN EB -GS - MBAY - BES arey oo =
K& ASTH 2t 8,733
01 o 291, 111 264,001 27,020
2 262,000
Al 20,378
2t 8,733
01 AESHE 291, 111 264,091 27,020
OXEAST 291,111,002 291,111
2 262,000
ALt 20,378
24| 8,733
AR ME 2 340,812 303,346 17,466
2 238,568
Al 102,244
307 212+0 340,812 303,346 17,466
2 238,568
AlHI 102,244
02 QIANFHEE 340,812 303,346 17,466
OXSTBHE 29 340,812,000%! 340,812
2 233,568
ALt 102,244
NP 24,480 21,600 2,830
Al 24,480
307 212 24,480 21,600 2,830
Al 24,480
02 CINBENEZE 24,480 21,600 2,830
OXS TS HE X2 24,480,000%! 24,480
Al 24,480
AEHST2 DA 2,753 1,975 778
2 2,477
Al 193
2t 83
01 YprBaz 2,753 1,975 778
2 2,477
Al 193
2t 83
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U HYASS &

Goll HEAE =8 (el o e
SH-EFHHA(FA) - NIRAE - BES O AFH glllliafﬁ Hlws2
01 Ne=RNLd2 2.753 T.975 778
OMsIRET2 A 2,753,000 2,753
2 2,477
Al 193
2] 3
SIAREL 2T 20| Al 630,000 737,767 A 107,767
2 441,000
AlH 94,500
2| 94,500
07 BI2H0IH 630,000 737,767 A 107,767
2 441,000
Al 94,500
2| 94,500
IEEEREES 630,000 737,767 A 107,767

ONARIELEZEL0IALY X

630,000, 0002 630,000
= 441,000
AlHI 94,500
2l 94,500
HASE Z42l A 60,000 0 60,000
= 54,000
AlHI 4,200
2l 1,800
307 212+0IH 60,000 0 60,000
= 54,000
AlHI 4,200
2l 1,800
02 QIAHARE 60,000 0 60,000
OMASS F42l A X8 60,000,000% 60,000
= 54,000
AlHI 4,200
2l 1,800
g =3 2 oy 678,262 706,641 128,379
= 30,000
AlHI 490,000

Tl 158,262




AN F=OUMBIAD
HM: D8 27 2 OF
chel: Aoy (Se &)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
A [HEH 678,262 706,641 N28,379
= 30,000
AlHI 490,000
Tt 158,262
SSZZAE =& 613,000 651,000 38,000
AlHI 460,000
Tt 153,000
401 AlZHIZLE204Y] 613,000 648,480 35,480
Al H] 460,000
2l 153,000
01 Al&H] 613,000 648,480 35,480
O332=ZAtY 613,000,000 613,000
Aldl 460,000
sl 153,000
NS HE=dA 60,000 50,000 10,000
= 30,000
AlH] 30,000
301 dE8AZ 60,000 50,000 10,000
= 30,000
AlHI 30,000
01 A EEE56= 60,000 50,000 10,000
OXS AT =else 60,000, 0002 60,000
= 30,000
Aldl 30,000
FAHBHH 29 5,262 5,641 A379
201 LBrEdH| 3,662 4,841 A1,179
01 AtR22ld] 2,990 3,214 N 224
O&=x=J| Xt 30,000& x12& 360
OFGEEHH 289835 2 990
- DANSD EY 85,000& 34 255
- oRlE El 150,0002 *37} 450
- E2A| EY 45,0002 =34 135
L =2A8X 15,0002 %108 A 150
OMsSe3 A 1,000,000& 13| 1,000




R0
oJ

™ ok

= KJ
=
o] 00
K

2N
2
chel:

Jé-IxH~

od
’J
oF
o)

®[
S
al
<

i3 3|8 318 NIQIg]°|° SAES: N N N N
(o)} < < < | < Lo [e 0] [e o] [ee] [e6) O (<o} O | ©
= < ~ o|ls|<l|s
Klo
E
D
= S o o o x| s x|« gl I 212
S 8|8 S| 8 |8|8]3 3|8 M EARAL:
= N o | ™ | ® || 0w
H3r
uiled!
KIS
(e} o [aV) (=) Al o o o o o o o © < < < | < <t o o o Al Al Al [qN) (@) Al o
B 3 5 3 2 |RIS 8 282 (2] S |=|_R|R|8|8 8 |8|8 8 |=|=|=|F 8 & 8
— = S|~ Y|l ¥ [glgelglg @ © -
3
<
=
s = W o W o f a o W W W
o N~ [aN] [aN] o o — [aN] o o o o
o * — — o o * — o o o (@)
< W x = S S o x S 5 & o
or ® o or ol o o ) 80 o o o o
x S o o S S S <F oo S Ioe] ™ S
0 | S S 8 © © S ok ~ S 9 =2
8| R S mE ~ g @© -
. Al ($p) <t e
o <
ol ~ b
= =
IF ol
Tl oz .
- - = K ar 5 5 D D
= & S _ . bl - WOR
R v Cow x| oa & 2 ha _ moor
I I o K o o RO K K =)
o = = oo | _ |oF xM o | _ |® Al W _|OF oF _ Ww N =
e L e Edl % m ~ |2 s = LY O R )
W lgr w0 s = m __AT RICE @ [N 40 | S _ ok Kl 1g0 &0 m: T & o
O L1 I L= S I = . = ) i low o Wl w & <
R |l o0 M =Wl . #Fo8 & (Y = |2 Es) w_ o0 < R x m_: - T W W
R I & M o 3z [z @ = |Klg of ||| |« mao |0 s|%=z +» = &
. lo o O O | O O | O |m|s || _ O - O |s|m|_ O O O
[aN] (e8] — [aN] < By by
x o S |e F o ||| 2| =) M| &|lo
o o | & |3l WS
%0 | ol ~

0




